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BASIC CONCEPT



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: B<SsQ<Y=X>Cz2J

Conclusions:
NS<Y
1) X > B

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions

Statements: EZP>A<0=Z=5G

Conclusions:
. A< G
1. Z<E

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions

Statements: K>J<F<SB<D=G>P<R

Conclusions:
. F <G
.F=G

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: P£O=N<WsGz2I>D=J]

Conclusions:
. W >D
1. N < |

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: P2Q2R=S=T2UsVsW=X

Conclusions:
. W>S
II. X <R

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: HEQsR=E;P2B>H

Conclusions:
.Q<B
NI.B>P

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: T=V>W=M>R; X<GsM

Conclusions:
. W>G
II. R> X

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: T<Q; R=S; Q>P2R

Conclusions:
. T<R
l.P=S

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: Y=X; Z<U<V: X>Z

Conclusions:
.V > X
.Y > U

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: DSR>EsSB; SsM=E>D;: G>B

Conclusions:
.D>E
I.B <R

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: DSsR>EsSB; SsM=E>D; G>B

Conclusions:
) S<B
) B=S

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: N=K2L2P<O<Uz2R;P>F

Conclusions:
) F2R
1) N> F

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: Q>A2ZsX=sC;Z=H

Conclusions:

) Q >H
1) ZsC

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: HKY<U2Q=N>R; S=T2G=V>H

Conclusions:
. U<R
.S 2 U

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: T2M=K<B=G<P2V>L: X>Z>T

Conclusions:
. X>P
H.P2T

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: P<Q2G; G2I2E; CsP; C>U

Conclusions:
. U > |
=

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: I2H: K<L: K>J 21

Conclusions:
.J=H
1.J >H

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: T<R2S=Q,R<F=K

Conclusions:
. T >K
1. K>Q

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: TER=F<P=D;Q<MsS>C2T

Conclusions:
.M >R
.M SR

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: W>Q>Z<L;N<C<sZ

Conclusions:
. W >N
II. NS L

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements.
These Statements are followed by two conclusions.

Statements: KsI=W>0=M; S<R>/Z>X2K

Conclusions:
. O<R
. O SR

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



# Concept



Statements / I :
B<d<G<KEF>L>P
Conclusions / Ay :

. O/=F

l.P =K

01. If only conclusion | is true.

02. If only conclusion Il is true.

03. If either conclusion | or |l is true.
04. If neither conclusion | nor |l is true.
05. If both conclusions | and Il are true.



Statements / I :
B>4=2T>F=Y2S=W
Conclusions / AHY :

. T<W

1.S=T

01. If only conclusion | is true.

02. If only conclusion Il is true

03. If either conclusion | or |l is true
04. If neither conclusion | nor |l is true
05. If both conclusions | and |l are true



Statements / 91 :
M<T/I<G4JEU>Y>R
Conclusions / fAHY :

. U< M

. R<G

01. If only conclusion | is true

02. If only conclusion Il is true

03. If either conclusion | or |l is true.
04. If neither conclusion | nor Il is true.
05. If both conclusions | and |l are true.



Statements / 91 :
M<kT<G<LJEU>Y>R
Conclusions / fAHY :

. J/>R

Il. R/’< U

01. If only conclusion | is true

02. If only conclusion Il is true

03. If either conclusion | or |l is true.
04. If neither conclusion | nor Il is true.
05. If both conclusions | and |l are true.



Directions: In this question, relationship between
different elements is shown in the statements. These
Statements are followed by two conclusions.

Statements: ZzA=Kz2B >J

Conclusions:
. Z2>J
Il. Z # K

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements. These
Statements are followed by two conclusions.

Statements: B<S=sQ<Y#X=Cz2J

Conclusions:
) S < X
)Y #C

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements. These
Statements are followed by two conclusions.

Statements: K>Z<L#FA#T=V

Conclusions:
I.L#ET
l.K<T

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements. These
Statements are followed by two conclusions.

Statements: K>Z<L=A#¥T=V

Conclusions:
. A>V
I.L<T

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements. These
Statements are followed by two conclusions.

Statements: O#P>Q2R2S=T

Conclusions:
.O=S
HI.O#T

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements. These
Statements are followed by two conclusions.

Statements: C=HSD#E<F2G=Z

Conclusions:
. C<F
I.H2F

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Directions: In this question, relationship between
different elements is shown in the statements. These
Statements are followed by two conclusions.

Statements: C=HSD#E<F2G=Z

Conclusions:
. C<F
I.H2F

a) Only Conclusion | follows

b) Only Conclusion Il follows

c) Either Conclusion | or Il follows
d) Neither Conclusion | nor Il follows
e) Both Conclusion | and Il follow



Which of the following symbols should replace
the sign respectively in order to complete the
given expression in such a manner that “C > D”
definitely holds false?
L<O>C=sK@E*D>N




Which of the following symbols should replace
the sign respectively in order to complete the
given expression in such a manner that “Z > S”
definitely holds True?

CSZ2R2K#Y2S

a) 2
b) <
c) >
d) =
e) S



Which of the following would replace @ and & In
the following expression so that ‘O > N’ is
definitely true?
L=O>W@M=sK;,M>F&Cz2N

a) <, =
b) > <
c) = S
d) 2, <



In which of the following expressions will the
expression Y < R’ be definitely true?

a) Y2P=U=R
b) Y<U>R>P
c) YsSU=P<R
dU>Y2R<P
e) R>U=P<Y




In the following question, how to place the
symbols so that both the conditions, R > G and
N < F, definitely hold true when all the
expressions are considered together?

R E>W<XsFW_ §>G;, X2U N

a) >, =, 2
b) =, <, <
c) >, 2, <
d) =2 >
e) s, =, >



What will come in the place of question

mark (?) in the given statement if 4 >8and 926
Is definitely true?

425>9(?)827=6

O O T QO
N N e N
IAN V IV Il

e) Either = or 2



What will come in the place of question mark (?)
In the given statement if 4 > 8 is definitely

true?

223=425(?7)6=728

O O T QO
N N e N
N INV IV I

D






